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( 3 4)
) A B
C D
E
G 3
) GF
) o( O
) ( ) OG(O'H)
)  AB=d 4
BC=c
Q:ﬁ(ﬁ) rzzo_B(ﬁ)
)
1. = b 1 = a w
2 . = b 2 = a w
3. = b W5 = a
( mm) (fmm) ( mm)
NI SSAN CEFI RO 4920 1780 2750
TI ERRA LS 447(Q 1695 2610
VTEC 2000 4795 4785 2715
HONDA STREAM 4570 1695 2720
HONDA S2000 41 3|5 1720 21400
2.0 GRAND VI TAPA 5 4195 1780 2
RENAULT SCENI|C 41|16 8 1719 2580
RENAULT RXA4 4446 1785 2624
BMW 318i 4471 1y¥39 27R5
BMW 318 Ci 4488 1757 2725
AUDI A6 1.8T 4769 1810 2760
ALFA ROMEO 14|7 1.6 4170 1905 2
ALFA ROMEO 156 2. 0|TS 443D 1745 z
CHRYSLER Next Neon 4430 1715 2 ¢
Cl TROEN Xsaral N7 1. 6V 4188 1705
FORD Tierra 2.0 4470 1695 26
4444.69 1751 . 88 262|7. 94




d = 4.44 m
c = 1.75m
= 2.63m
= 5.43m
(cm) (cm)
564 9 8
587 32
449 18
566 16
569 9 2
553 9 7
451 30
539 14
512 39
596 25
586 35
.4
( 5)
x0 . 4b=54.. 2444m |2
x2a2133m+0-.3
(s
x0 . 4b=54.. 2444m 2
'=1.75+8.3=2.05m 0.
( 7)
x0 . 4b=




U > T

ZRQV =6, = ZQPU = ZPST =6,

PQcosd, > PSsind,

tang, ngﬁz
PS 235

0°< 6, <65.8°

2.23

¢ ) S

asing, +bcoso,;

a : b

=+a%+b? (———9nf, + ——
Ja?+b?  Ja?+p?

=+a® +b*(cosasing, +sina cosk,)

=+va®+b*sin(d, +a)

a=49QR=tan-19
a

cosb,)

,5.24
2.35
~ 65.8°

va® +b? sin(@, +a) =+a* +b* sin(d, + 65.8°)
0, = 65.8°

S, =+va® +b*sin2x65.8°
=+/2.35% +5.24% xsin131.6°
~ 4.29 (m)
() S,
ZRQQ'=6,( 8)

asing, + 2bcosd,

=+a’+4b*sin(@, +y)

2b
=tant=
Y a

=tan

= 2x5.24
2.35

~tan~' 4.46

=tan



~ T74°
77.4°<0, +y <1432°
0, = 65.8°

S, =+/a’ + 4b? sin(65.8° + 77.4°)

= \/2.352 +4x5,24% .§in(65.8° + 77.4°)
~643 m

) ( 8P = ABcosa

Cc
:d)(—
a

= G
_aaax =D
2.35

~331 m P q

10 B P

) ( CP & BCcosa

4.44

5.24
~1.48

11 X
c=175 m 0 \

=1.75x%

1.75m

( 1AP 3 ABcosa

C
asecd
331
" sech

:d)(




oD=r, OC=r, OF

rS
OH =543 m

HE=263 m

OE=VOH -HE =+5432-263% ~475 m

12

13

14

12)



CE=BF :%(Kz-%): %(4.44— 2.63)~091 m

DE =CD - CE = 4.44-0.91=3.53m

VDE’ +O'E’ =+/353% + 4.75% ~592m
JCE  +O'E’ =4091% +4.75? ~ 4.84m

@)

‘D

r =

ocC

r,=O'E-EF =4.75-1.75=3m

Q r uv o

Q ABCD
( 15)

(1YQWLOU W

QW-S0-ST=r,-a

005 Z0'QW) = W 73 o83
O' r3

ZO'QW ~ 34°

O

15



( 2 )YO'R=0'Q-sin(g, + ZO'QW)
=r,sin(@, + 34°)

w, = O'D'=O'R=r, —r,sin(9, + 34°)

| 0, =0° (

W, =1, —r,Sin34°

v I’32 - (I’2 - a)2

3

=1, -l —(r, —a)°

=r, —Tyx

=592 /32 - (4.84—2.35)°
=424m

D:
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D:



Il
o
|
—
w

=51+091-524=0.78 m

2 2 2 2
. DD, =y/AD +AD, =,/175?+(0.77+0.8)> ~2.35 m

DO'=D,0'=r, =5.92m

2 2 2
- cos(/DO'D,) = 392 1592 235" o,

2x5.92x5.92

/DO'D, ~ 23°

D, 1JLAB

=D,D, -sin23°+ A,D, cos23°
=3.535-5n23° +1.75¢c0s23°
~3 m

VB-6.0

a=2.35 =55 eR(9,3 34°)

a=2.35 b=5. 244. 24 w

=& .|05 b=5.24+~3.00 W

) n-2a _1lx m-—w,
asecd, asing, + 2bcosé, +w;

0,=0P S




n- 2ﬂ(zb +9)

n_
n—Za} [2b+s
+

() | m-w,
2b+s b 2a'+W,
[ ]
m n 6,
Excel
m= 35 m=40 JR—

80
70
60
50
40
30
20
10

0

4

1 5

9 13 17 21 25 29 33 37 41 45 49 5 57 61

1 5 9 13 17 21 25 29 33 37 41 45 49 5

57 61 65

5 9 13 17 212529 33 37 41 45 49 58 57 61

1 5 9 1317 21 2529 33 37 41 45 49 5

B 57 6165

1

5 9 13 17 21 25 29 33 37 41 45 49 58 57 61

10

1 5 9 1317 212529 33 37 41 45 49 5

B 57 6165




mxn m

A,

Y
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s, = 2bcosd, +asing,

K, = 2><{n—Za—bsm&’2 —acosﬁz}rl

asecd,

t, =n—2a-acosd, —bsng, —

t, =m-w, —Kk,(s, +W,)

(k, —Dasecd,
2

n—-bsing, —acos@l}+1

h:{
asecd

2b+s

n }(2b+s)

SR

2b+s

11

b



hzz[ . }r m—{ZbTS}(2b+s)

2b+s b
6)3
hgz{m—bsm&’s—acos@s}rl
asect,
1. 0<t<a’

0<t,<a’ (=2) =K, -K,
ast,<2a'( 2) =
2a'<t,<s ( 3) =

(4)s<t,<b =
( 5)hb<t,<s +4a =

( 6)+a <t,<a’+b
= =k -k, +h+h

( 7)@+b<t, <2s

n
= =k1'k2+hl+[g}
( 8)2s <t,<s +b =
( 9)s+b<t,<2b

n
= :kl-k2+h+{g}

2. ast<2a
0<t,<a (=1) =k, -k, +h,
as<t,<?2a( 2)
= =k -k,+h +h,-1

12

=k -k, +h
=k, -k, +2h,
=k, -k, +h

n
:kl'k2+|:g

=k, -k, +2h



2a'<t, <s( 3)

= =k, -k, +2h +h,-2
(4)<t,<b = =k -k, +h+h,-1

( 5)b<t,<s +@

n

= =k1-k2+{a

}+hz—l

( 6)s+a <t,<a’+b
= =k, -k, +h+h +h,-2
( 7)@+b<t, <2s

= :kl-k2+hl+[ﬂ}+hz—2
a

(8)2s <t,<s +b
= =k, -k, +2h+h,-2

(9)s+b<t,<2b
n
= :kl-k2+h+{g}+h2—2

3. 2a<t <s
0<t,<a (=1) =k, -k, +2h,
a'<t,<2a 2)
= =k, -k, +h +2h, -2

2a'<t, < 3)

= =k, -k, +2h, +2h, -4
(4)s<t,<b = =Kk, -k, +h+2h, -2

( 5)b<t,<s +4@

13



- :kl-k2+[ﬂ}+2h2—2
a

(6)s+a'<t,<a +b

= =k, -k, +h+h +2h,-4
(7)a+b<st,<2s

= :kl-k2+h1+[ﬂ}+2h2—4
a

(8)2s <t,<s +Db
= =k, -k, +2h+2h, -4

(9)s+b<t,<2b

n

= :ki-k2+h+{a

}+2h2 -4
4. 2a'<t <s
s,>2a'

(3) 2t

0<t,<a (=1) =k, -k, +h,
a'<t,<2a 2)
= =k -k, +h +h,-1
2a'<t, <9 3)
= =k, -k, +2h +h, -2
(4)s<t,<b = =k, -k, +h+h, -1

( 5)b<t,<s +a’

14



= =k1-k2+{£}+hs—1

(6)5+a<t,<a+b
= =k, -k, +h+h +h,-2

( 7)a+b<t, <2s
n
= =k1-k2+hl+[5}+h3—2

(8)2s <t,<s +b
= =k, -k, +2h+h, -2

(9)s+b<t,<2b

- =k1-k2+h+[ﬂ}+h3—2
a

i
S
I
“
A
|
-
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4. 44 m

1.75 m

2.63 m

5.43m
5.24 m 5.24 m
2.35 m 2. 35 m
0.7
wbh. 928,83 i n[( =M. 244 m=3. 0v

1. 0°<6<658°
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